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A knot diagranﬂ €4 €1 C2 Ci1 €3 Cp Cg Cg Cg
Ideals for irreducible component#ﬂ)f Xpar

I = (W +u®* +. —3u—1)

* 1 irreducible components of dim¢ = 0, with total 21 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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26—-4—>51—>3—->11—-6—>10—>7—9— 8> C3,C7


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LI*=(@w'4+u?+... —3u—1)

(i) Arc colorings

w- (1)

1

as = 0
1
a4 = _u2
U
ar = \—ud+u
B
a3 = \ud —ud+u
ud
ain = (ud + u)
wb—ut+1

ag = —U6 + 2U4 _ U2

wd —2u" +ut 4 2ut —u
a0 =\ —u?+3u" -3 +u

w'? — 300 + 308 +2u8 —dut +u? 4+ 1
a7 = —u'? + 4010 — 648 + 2ub + 3u? — 202

wl® — 4u?3 + 6ult — 8u” + 6u’ + 2u® — 2u

ag = \ —u!® 4+ 5413 — 100" + 70 + 40" — Su® +2uP +u

u'® — 5ut® + 100 — 5ul? — 1100 + 17u® — 2ub — 8u* + 3u? + 1
ag = \ —u'® 4+ 6ul® — 150 + 16u'? 4+ u'0 — 18u® + 12ub + 2u* — 3u?

u® — 5u0 + 10u™ — 5u? — 1160 + 1748 — 208 — 8u* + 3u? + 1
ag = \ —u'® 4 6u'® — 150 + 16u'? + u'® — 18u® + 12u + 2u* — 3u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u!'® + 24u!™ + 4u!® — 64u!> — 20u? + 76u'? + 44u'? — 4u!t —
36ut0 — 100u° — 16u® + 92u” + 56uS — 24u* — 44u3 — 8u? + 8u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy P — w0 —3u+1
C2 u? +13u* 4 w1
c3,C8 w? = w4 tut1
Cs5,Ce, C
55 €6, C7 u2173u20+...7u+1
C9, €10, C11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 yP =13y .y -1
Co y21_9y20++3y_1
€3,C8 3y ey 1
Cs5,Ce6,C7 y21+31y20++19y—1
C9, €10, C11




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = —0.007758 4 0.9492681

—16.7890 — 3.45941

—3.86074 + 2.199831

u = —0.007758 — 0.9492681

—16.7890 + 3.45941

—3.86074 — 2.199831

u = 1.052520 4 0.2586211

—2.94174 — 0.962731

—7.66565 + 0.638931

u= 1.052520 — 0.2586211

—2.94174 + 0.962731

—7.66565 — 0.638931

u = —1.014220 4 0.3917631

—1.91084 + 4.816601

—2.93817 — 8.871191

u = —1.014220 — 0.3917631

—1.91084 — 4.816601

—2.93817 4 8.871191

u = 0.887361

—1.29680

—8.38840

u = —0.742095 + 0.3105401

0.91477 4 1.544221

4.91782 — 5.703481

u = —0.742095 — 0.3105407

0.91477 — 1.544221

4.91782 + 5.703481

u = —0.042739 4 0.7804671

—5.48993 — 2.786401

—3.21012 + 3.063331

u = —0.042739 — 0.7804671

—5.48993 + 2.786401

—3.21012 — 3.063331

u = —1.190720 4 0.4476771

—8.87843 + 7.217761

—6.27845 — 6.455931

u = —1.190720 — 0.4476771

—8.87843 — 7.217761

—6.27845 + 6.455931

u= 1.208770 4+ 0.4044001

—9.21675 — 1.403221

—7.22383 + 0.674851

u = 1.208770 — 0.4044001

—9.21675 4 1.403221

—7.22383 — 0.674851

u = —1.290770 + 0.4864691

18.7348 + 8.56721

—6.90755 — 5.035501

u = —1.290770 — 0.4864691

18.7348 — 8.56721

—6.90755 + 5.035501

u = 1.295050 4 0.4773831

18.6641 — 1.60771

—7.04859 + 0.654861

u = 1.295050 — 0.4773831

18.6641 + 1.60771

—7.04859 — 0.654861

u = —0.211725 4 0.4406651

0.159228 — 1.3361001

1.40948 + 5.213461

u = —0.211725 — 0.4406651

0.159228 + 1.3361001

1.40948 — 5.213461




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C4 u? = —3u+1
C2 w1302 o —u 1
c3,C8 ut = a1
C5,C6, C
556, C7 u21—3u20+~--—u—|—1
C9, €10, C11




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C4 y21713y20+~-~7y—1
€2 Yt =9y 43y — 1
€3, Cs 30+ —y -1
Cs, Ce, C7 y21+31y20++19y—1
C9, €10, C11




